						Nove	ember 7th,	2023	General Election	Candidate	Calendar		
Office	Number to be Elected	Number in Office	Term Length / Commencing Date	Petition Number	Minimum Number of Signatures	Maximum Number of Signatures	Filing Deadline by 4:00PM	Filing Fee	Filing Location	Nominated at Partisan Primary	District	Current Office Holder	Additional Paperwork
Fairfield City Member of Council Ward 1	1	1	4 yrs. 1/1/24	3-O	50	150	08/09/23	\$20.00 \$25.00	Butler County Board of Elections	No	Fair1wd1 - Fair9wd1	Leslie Besl	Financial Disclosure
Fairfield City Member of Council Ward 2	1	1	4 yrs. 1/1/24	3-O	50	150	08/09/23	\$20.00 \$25.00	Butler County Board of Elections	No	Fair1wd2 - Fair8wd2	Dale R. Paullus	Financial Disclosure
Fairfield City Member of Council Ward 3	1	1	4 yrs. 1/1/24	3-O	50	150	08/09/23	\$20.00 \$25.00	Butler County Board of Elections	No	Fair1wd3 - Fair11wd3	Terry Senger	Financial Disclosure
Fairfield City Member of Council Ward 4	1	1	4 yrs. 1/1/24	3-O	50	150	08/09/23	\$20.00 \$25.00	Butler County Board of Elections	No	Fair1wd4 - Fair10wd4	Adam Kraft	Financial Disclosure
Hamilton City Member of Council	3	6	4 yrs. 1/1/24	3-O	100 Per Charter	200	08/09/23	\$20.00 \$25.00	Butler County Board of Elections	No	Hamilton City	Carla J. Fiehrer Eric Pohlman Susan Vaughn	Financial Disclosure
Middletown City Mayor	1	1	4 yrs. 1/1/24	3-O	50 Per Charter	150	08/24/23 Per Charter	\$20.00 \$25.00	Butler County Board of Elections	No	Middletown City Part of Warren County Butler (majority county)	Nicole A. Condrey	Financial Disclosure
Middletown City Member of Council at Large	2	4	4 yrs. 1/1/24	3-O	50 Per Charter	150	08/24/23 Per Charter	\$20.00 \$25.00	Butler County Board of Elections	No	Middletown City Part of Warren County Butler (majority county)	Talbott C. Moon Monica Nenni	Financial Disclosure
Monroe City Member of Council	4	7	4 yrs. 1/1/24	3-0	50	150	08/09/23	\$20.00 \$25.00	Butler County Board of Elections	No	Monroe City Part of Warren County Butler (majority county)	Michael Graves Keith Funk Jason R. Frentzel Christina McElfresh	Financial Disclosure
Oxford City Member of Council	3	7	4 yrs. 11/27/23	3-O	50 Per Charter	100	08/09/23	\$20.00 \$25.00	Butler County Board of Elections	No	Oxford City	Jason Bracken Glen Ellerbe, Jr William B. Snavely	Financial Disclosure
Sharonville City Mayor	1	1	4 yrs. 1/1/24	2-I - Party 3-N - Ind.	50 25	150 75	02/01/23 05/01/23	\$20.00 \$25.00	Hamilton County Board of Elections	Yes	Sharon 1 & 2 Hamilton (majority county)	Kevin Hardman	Financial Disclosure
Sharonville City President of Council	1	1	2 yrs. 1/1/24	2-I - Party 3-N - Ind.	50 25	150 75	02/01/23 05/01/23	\$20.00 \$25.00	Hamilton County Board of Elections	Yes	Sharon 1 & 2 Hamilton (majority county)	Vicki Hoppe	Financial Disclosure
Sharonville City Auditor	1	1	4 yrs. 1/1/24	2-I - Party 3-N - Ind.	50 25	150 75	02/01/23 05/01/23	\$20.00 \$25.00	Hamilton County Board of Elections	Yes	Sharon 1 & 2 Hamilton (majority county)	Ed Cunningham	Financial Disclosure
Sharonville City Law Director	1	1	4 yrs. 1/1/24	2-I - Party 3-N - Ind.	50 25	150 75	02/01/23 05/01/23	\$20.00 \$25.00	Hamilton County Board of Elections	Yes	Sharon 1 & 2 Hamilton (majority county)	Mark Piepmeier	Financial Disclosure
Sharonville City Member of Council at Large	3	3	2 yrs. 1/1/24	2-I - Party 3-N - Ind.	50 25	150 75	02/01/23 05/01/23	\$20.00 \$25.00	Hamilton County Board of Elections	Yes	Sharon 1 & 2 Hamilton (majority county)	Sue Knight Charles Lippert Mike Wilson	Financial Disclosure
Sharonville City Member of Council Ward 2	1	1	2 yrs. 1/1/24	2-I - Party 3-N - Ind.	25	75	02/01/23 05/01/23	\$20.00 \$25.00	Hamilton County Board of Elections	Yes	Sharon 1 & 2 Hamilton (majority county)	Dave Koch	Financial Disclosure
Trenton City Member of Council	3	7	4 yrs. 1/1/24	3-O	25 Per Charter	50	08/09/23	\$20.00 \$25.00	Butler County Board of Elections	No	Trenton City	Cody Agee Jennifer Harris Rvan D. Perrv	Financial Disclosure

Page 1 of 5 2/21/2023 11:10 AM

						Nove	mber 7th,	2023 (General Election	Candidate	Calendar		
Office	Number to be Elected	Number in Office	Term Length / Commencing Date	Petition Number	Minimum Number of Signatures	Maximum Number of Signatures	Filing Deadline by 4:00PM	Filing Fee	Filing Location	Nominated at Partisan Primary	District	Current Office Holder	Additional Paperwork
College Corner Village Mayor	1	1	4 yrs. 1/1/24	3-O	10	30	08/09/23	\$10.00 \$20.00	Preble County Board of Elections	No	OXTWP2 Preble (majority county)	James R. Jackson	No
College Corner Village Council	2	6	4 yrs. 1/1/24	3-O	10	30	08/09/23	\$10.00 \$20.00	Preble County Board of Elections	No	OXTWP2 Preble (majority county)	Vacant Vacant	No
College Corner Village Board of Public Affairs	2	3	4 yrs. 1/1/24	3-O	10	30	08/09/23	\$10.00 \$20.00	Preble County Board of Elections	No	OXTWP2 Preble (majority county)	Vacant Vacant	No
Jacksonburg Village Mayor	1	1	4 yrs. 1/1/24	3-O	10	30	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Wayne2.JAC	Michael W. Sword	No
Jacksonburg Village Council	2	6	4 yrs. 1/1/24	3-O	10	30	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Wayne2.JAC	Ivan S. Northern Laura Mae Sword	No
Millville Village Mayor	1	1	4 yrs. 1/1/24	3-O	10	30	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Hanover6, Ross5	Curt Pennington	No
Millville Village Clerk Treasurer	1	1	4 yrs. 4/1/24	3-O	10	30	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Hanover6, Ross5	Sandra Arrasmith	No
Millville Village Council	2	6	4 yrs. 1/1/24	3-O	10	30	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Hanover6, Ross5	Rusty Jones Vacant	No
New Miami Village Mayor	1	1	4 yrs. 1/1/24	3-O	50	150	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	St.Clair4	Stephanie D. Chandler	No
New Miami Village Council	2	6	4 yrs. 1/1/24	3-0	50	150	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	St.Clair4	Jamie Marlow James Chesnut	No
New Miami Village Board of Public Affairs	1	3	4 yrs. 1/1/24	3-O	50	150	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	St.Clair4	Edward McBee	No
Seven Mile Village Mayor	1	1	4 yrs.	3-O	10	30	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	St. Clair2.7Ml, Wayne5.7Ml	Melissa A. Mick	No
Seven Mile Village Clerk Treasurer	1	1	4 yrs. 4/1/24	3-O	10	30	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	St. Clair2.7MI, Wayne5.7MI	Laura L. Oliver	No
Seven Mile Village Council	2	6	4 yrs. 1/1/24	3-O	10	30	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	St. Clair2.7Ml, Wayne5.7Ml	Lara Shalet Askill Sarah White	No
Seven Mile Village Board of Public Affairs	1	3	4 yrs. 1/1/24	3-O	10	30	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	St. Clair2.7MI, Wayne5.7MI	Thomas G. Owen	No

Page 2 of 5 2/21/2023 11:10 AM

						Nove	ember 7th,	2023 (General Election	Candidate	Calendar		
Office	Number to be Elected	Number in Office	Term Length / Commencing Date	Petition Number	Minimum Number of Signatures	Maximum Number of Signatures	Filing Deadline by 4:00PM	Filing Fee	Filing Location	Nominated at Partisan Primary	District	Current Office Holder	Additional Paperwork
Fairfield Township Fiscal Officer	1	1	4 yrs. 4/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Fairfield Township	Shelly Schultz	No
Fairfield Township Trustee	1	3	4 yrs. 1/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Fairfield Township	Joseph M. McAbee	No
Hanover Township Fiscal Officer	1	1	4 yrs. 4/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Hanover Township	Greg L. Sullivan	No
Hanover Township Trustee	1	3	4 yrs. 1/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Hanover Township	Larry Miller	No
Lemon Township Fiscal Officer	1	1	4 yrs. 4/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Lemon 1 & 2 Monroe 1-5, 7-10	Rita Tannreuther	No
Lemon Township Trustee	1	3	4 yrs. 1/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Lemon 1 & 2 Monroe 1-5, 7-10	Kevin R. Majors	No
Liberty Township Fiscal Officer	1	1	4 yrs. 4/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Liberty Township, Monroe6	Pamela Quinlisk	No
Liberty Township Trustee	1	3	4 yrs. 1/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Liberty Township, Monroe6	Steve Schramm	No
Madison Township Fiscal Officer	1	1	4 yrs. 4/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Madison Township, Trenton1.MAD, Trenton7.MAD	Amy Schenck	No
Madison Township Trustee	1	3	4 yrs. 1/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Madison Township, Trenton1.MAD, Trenton7.MAD	Alan Daniel	No
Milford Township Fiscal Officer	1	1	4 yrs. 4/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Milford Township	Mollie L. Hansel	No
Milford Township Trustee	1	3	4 yrs. 1/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Milford Township	Amy G. Butterfield	No
Milford Township Trustee Unexpired Term	1	1	4 yrs. Ending 12/31/25	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Milford Township	Mike Green	No
Morgan Township Fiscal Officer	1	1	4 yrs.	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Morgan Township	Sandra Jennings	No
Morgan Township Trustee	1	3	4 yrs. 1/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Morgan Township	Tom Brucker	No
Oxford Township Fiscal Officer	1	1	4 yrs. 4/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Oxford City, OXTWP1-3	Susan Rooney	No
Oxford Township Trustee	1	3	4 yrs. 1/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Oxford City, OXTWP1-3	Kate Rousmaniere	No

Page 3 of 5 2/21/2023 11:10 AM

						Nove	mber 7th,	2023 (General Election	Candidate	Calendar		
Office	Number to be Elected	Number ir Office	Term Length / Commencing Date	Petition Number	Minimum Number of Signatures	Maximum Number of Signatures	Filing Deadline by 4:00PM	Filing Fee	Filing Location	Nominated at Partisan Primary	District	Current Office Holder	Additional Paperwork
Reily Township Fiscal Officer	1	1	4 yrs. 4/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Reily Township	Ronald J. Tilford	No
Reily Township Trustee	1	3	4 yrs. 1/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Reily Township	C. Nicholas Schwab	No
Ross Township Fiscal Officer	1	1	4 yrs. 4/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Ross Township	Julie Joyce-Smith	No
Ross Township Trustee	1	3	4 yrs. 1/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Ross Township	Ellen Yordy	No
Ross Township Trustee Unexpired Term	1	1	4 yrs. Ending 12/31/25	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Ross Township	Jennifer A. Patterson	No
St. Clair Township Fiscal Officer	1	1	4 yrs. 4/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	St. Clair Township, Trenton8.STC	Douglas M. Wheelright	No
St. Clair Township Trustee	1	3	4 yrs. 1/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	St. Clair Township, Trenton8.STC	Judy Valerio	No
St. Clair Township Trustee Unexpired Term	1	1	4 yrs. Ending 12/31/25	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	St. Clair Township, Trenton8.STC	John Johnson	No
Wayne Township Fiscal Officer	1	1	4 yrs. 4/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Wayne Township, Trenton3.WAY	Laura Daley	No
Wayne Township Trustee	1	3	4 yrs. 1/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Wayne Township, Trenton3.WAY	Tim Taylor	No
West Chester Township Fiscal Officer	1	1	4 yrs. 4/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	West Chester Township	Bruce Jones	No
West Chester Township Trustee	1	3	4 yrs. 1/1/24	3-R	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	West Chester Township	Ann Becker	No
Butler County Educational Service Center	2	5	4 yrs. 1/1/24	3-W	50	150	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	All Local School Districts Part of Warren County Butler (majority county)	Steven M. Feldmann Benita Mudd	Financial Disclosure School Board Packet
Hamilton County Educational Service Center	2	5	4 yrs. 1/1/24	3-W	50	150	08/09/23	\$10.00 \$20.00	Hamilton County Board of Elections	No	FFTWP14.NWL, Morgan1 Hamilton (majority county)	Fred Hunt Timothy Wagner	School Board Packet
Preble County Educational Service Center	2	5	4 yrs. 1/1/24	3-W	50	150	08/09/23	\$10.00 \$20.00	Preble County Board of Elections	No	OXTWP2, OXTWP3.CCS, Wayne1.PSL Preble (majority county)	Rhonda Schaar Kevin A. Johnston	School Board Packet
College Corner Local Schools Board of Education	2	5	4 yrs. 1/1/24	3-T	25	75	08/09/23	\$10.00 \$20.00	Preble County Board of Elections	No	OXTWP2, OXTWP3.CCS Preble (majority county)	Michael S. McDonough John Seibert	School Board Packet
Edgewood City Schools Board of Education	2	5	4 yrs. 1/1/24	3-T	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Hanover9.ECS, Madison5, Milford2.ECS, St. Clair1-2, Trenton2-8, Wayne1-5 Part of Preble County Butler (majority county)	Amy R. Ashcraft Tom York	School Board Packet

Page 4 of 5 2/21/2023 11:10 AM

Office	Number to be Elected	Number in Office	Term Length / Commencing Date	Petition Number	Minimum Number of Signatures	Maximum Number of Signatures	Filing Deadline by 4:00PM	Filing Fee	Filing Location	Nominated at Partisan Primary	District	Current Office Holder	Additional Paperwo
Fairfield City Schools Board of Education	2	5	4 yrs. 1/1/24	3-T	150	450	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Fairfield City Fairfield Township (except FFTWP14.NWL & FFTWP14.RLS)	Scott Clark Balena Shorter	School Board Packet
Hamilton City Schools Board of Education	2	5	4 yrs. 1/1/24	3-T	150	450	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Hamilton City (except Ham1wd1.RLS, Ham16wd1, Ham18wd1.NML, & Ham22wd1.RLS), Hanover2.HAM, Hanover7.45, Hanover7.47	Steven M. Isgro ShaQuila Mathews	School Board Packet
Lakota Local Schools Board of Education	2	5	4 yrs. 1/1/24	3-T	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Liberty Township, Monroe6, West Chester Township (except WC20.MCS)	Lynda C. O'Connor Julie Shaffer	Financial Disclosure School Board Pack
Madison Local Schools Board of Education	3	5	4 yrs. 1/1/24	3-T	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Madison1-4, Trenton1	David French Amy Black Jessee Joseph A. Solomito	School Board Packet
Mason City Schools Board of Education	2	5	4 yrs. 1/1/24	3-T	75	225	08/09/23	\$10.00 \$20.00	Warren County Board of Elections	No	WC20.MCS Warren (majority county) Middletown City, Lemon2	Desiree Batsche Kevin Wise Anita Scheibert	School Board Packet
Middletown City Schools Board of Education	3	5	4 yrs. 1/1/24	3-T	75	225	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Part of Warren County Butler (majority county)	Verlena Stewart Chris Urso	School Board Packet
Monroe Local Schools Board of Education	2	5	4 yrs. 1/1/24	3-T	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Lemon1, Monroe1-5, Monroe7-10 Part of Warren County Butler (majority county)	Dave Grant Tom Leeds	School Board Packet
New Miami Local Schools Board of Education	3	5	4 yrs. 1/1/24	3-T	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Ham18wd1.NML, St. Clair3-5	Roy Chapman Daniel Marcum Tari Jo Slagle	School Board Packet
New Miami Local Schools Board of Education Unexpired Term	2	2	4 yrs. 1/1/24 Ending 12/31/25	3-T	25	75	08/09/23	\$10.00 \$10.00 \$20.00	Butler County Board of Elections	No	Ham18wd1.NML, St. Clair3-5	Keeley Davidson	School Board Packet
Northwest Local Schools Board of Education	2	5	4 yrs. 1/1/24	3-T	25	75	08/09/23	\$10.00 \$20.00	Hamilton County Board of Elections	No	Fftwp14.NWL Hamilton (majority county)	Monica L. Bowles Jim Detzel	School Board Packet
Preble Shawnee Local Schools Board of Education	2	5	4 yrs. 1/1/24	3-T	25	75	08/09/23	\$10.00 \$20.00	Preble County Board of Elections	No	Wayne1.PSL Preble (majority county)	Greg A. Rader Jeff Wood Gina Ruffin Moore	School Board Packet
Princeton City Schools Board of Education	3	5	4 yrs. 1/1/24	3-T	75	225	08/09/23	\$10.00 \$20.00	Hamilton County Board of Elections	No	Sharon1-2, WC39.PCS Hamilton (majority county)	Jon Myron Simons Susan Wyder	School Board Packet
Ross Local Schools Board of Education	3	5	4 yrs. 1/1/24	3-T	25	75	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Fftwp14.RLS, Ham1wd1.RLS Ham22wd1.RLS, Hanover 1,4,6, Morgan2-5, Ross1-7, St. Clair5.RLS	Heather R. Hayes Andrew Schnell Sean Van Winkle	School Board Packet
Southwest Local Schools Board of Education	3	5	4 yrs. 1/1/24	3-T	25	75	08/09/23	\$10.00 \$20.00	Hamilton County Board of Elections	No	Morgan1 Hamilton (majority county)	Jeffrey Paul Biddle Tricia Evanson Linda A. Peak	School Board Packet
Talawanda City Schools Board of Education	3	5	4 yrs. 1/1/24	3-T	75	225	08/09/23	\$10.00 \$20.00	Butler County Board of Elections	No	Ham16wd1, Hanover10, Hanover2.TAL, Hanover3, Hanover5, Hanover8, Hanover8, Hanover9.TCS, Hanover10, Milford1, Milford2.TCS, Oxford City, OXTWP1, OXTWP3.TCS, Reily Township Part of Preble County Butler (majority county)	Kathleen Knight-Abowitz Rebecca Howard Chris Otto	School Board Packet

Page 5 of 5 2/21/2023 11:10 AM